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Seuil de rentabilité

1

Quantité Prix un Total

Achat 25 000 36 900 000

0

Frais fixes 1 600 000 600 000

Total des coûts -1 500 000 

25 000 60 1 500 000

Marge brute -                 

600’000 600 000      25 000,00
60 – 36 24               

Quantité de rentabilité 25 000        pièces

Point mort 1 500 000   Chf

[25’000*60]

2
Prix d’achat 36               
Prix de ventes 60               
Frais Fixes 600 000      
Bénéfice 120 000      

 600 000 + 120 000        720 000 30 000            
 60 – 36 24               

Quantité de rentabilité 30 000        pièces

Point mort 1 800 000   Chf

3
Prix d’achat 36               
Prix de ventes 60               
Frais Fixes 600 000      
Perte - 240 000

 600 000 - 240 000        360 000 15 000            
 60 – 36 24               

Quantité de rentabilité 15 000        pièces

Point mort 900 000      Chf

Prix de ventes
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